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9-3 Operations with Complex Numbers
J-1=i (V1) =1
£ =1
Powers of i .
‘ add/subtract: combine like terms (real w/real and

i— imaginary w/imaginary)

5 P’=-i i=i

iT=—| Multiply: FOIL

PP= -

4 i4=1 Di use conjugates to simplify riis a
i'—| radical and can't stay in the denominatory
Pattern repeats every 4 iterations

Subtract:

(=3+7i)—(5-4i)

Add:

(4=3)+(=2+5i)
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(4—\/2_4)+(—7+\/3)
~ 51\

(4-2i)—(-2+7i)
ol

Multiply.

4i(3 - 6i)

21-241%
[21-24CD)
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(—2+49)(3%1)
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Remember from before:

Yash =\
Works when /g and ¥/p are real numbeg1
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This means that
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You Try

2 Gl Evaluate
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(2++-36)(4 - v=25) i i
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